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 You may try the questions in any order. 

 

     No calculating aids may be used. 

 

      Show all working. 

 

                       

           

                   



1. a)  Work out exactly 

 

 i) 6.8083.5   (3 marks) 

 

 ii) 76.0268.459   (3 marks) 

 

 b)  Give the answers to the following as fractions in their simplest form 

 

 i) 
35

16

7

6
   (3 marks) 

 

 ii) 
7

3
8

5

1
4   (3 marks) 

 

 iii) 














4

3
4

5

3
2

10

9
4  (4 marks) 

 

 

 

2. Work out as simply as possible 

 

 a) 22 416584   (4 marks) 

 

 b) )4548(48)4897( 2   (4 marks) 

 

 c) )6916()8455()1653()2984(   (4 marks) 

 

 d) 
 

91.440

4915094912




 (5 marks)  

 

 

 

3. a)  Multiply out and simplify 

 

 i)  24yx   (3 marks) 

 

 ii) )271428)(2( 2 bababa   (3 marks) 

 

 b)  Factorise fully 

 

 i) 51815 32 xyyx   (3 marks) 

  

 ii) 22 2863 ba   (3 marks) 

 

 iii) 5432  xx  (3 marks) 



c)  Simplify 

 

 i) 
35 728

49 4

xx

x


 (3 marks) 

 

 ii) 





























4

2

2

5

y

x

y

x
 (3 marks) 

 

 

4.   Solve each of these equations for x 

 

 a) 297)34(9)72(4  xx  (3 marks) 

 

 b) 14
5

32

4

57





 xx
 (4 marks) 

 

 c) 11)8)(1()4( 2   xxx  (5 marks) 

 

 Rearrange the following formula to make x the subject 

 

 d) 
xc

b

x

a


  (4 marks) 

 

 

5. Solve each of these pairs of equations for x and y 

 

 a) 
2756

4745





yx

yx
 (6 marks) 

 

 b) 

14
5

3

3

1

47
6

5

4

3





yx

yx
 (6 marks) 

 

 

6. Solve each of these equations for x 

 

 a) 060192  xx  (4 marks) 

 

 b) 081110 2  xx  (6 marks) 

 

 c) 7
2

5

3

80





 xx
 (8 marks) 

 

 

 Total 100 marks 


